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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
BV
= 1 197, 992, 377
T e R T
= 1 192, 758, 640
E¥LT
= 1 1, 894, 640
R L
= 1 190, 864, 000
SRS (A) A5HA! JRMRERAARR S 40. Om JE
AE 39.0m
e 43 2,011, 000 86, 473, 000
SRS (B) A5HA! JRMREAAARR S 40. Om JE
AE 39.0m
e 42 2,007, 000 84, 294, 000
SRS (C) 2505 JRIEER AR X 28. 0m JE
AE 27.0m
e 10 957, 000 9, 570, 000
SRS (D) 2507 JRIEER AR X 28. 0m JE
AE 27.0m
e 11 957, 000 10, 527, 000
fIE s T
= 1 1,363, 138
TAT 7 MifZE T
HLE AR (A)
= 1 375, 666
& e (e - D) FLE)T9vTy RC-30 41 1V JE 110
mm
m2 128 643. 8 82, 406
- R (B - BRI RIEEFIRE A M-30 {1 =V E 70
mm
m2 128 599. 1 76, 684
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 128 1,692 216, 576
TAT 7 MifZE T
HLE AL (B)
= 1 536, 364
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
FE (FaE - B BRI T AT (13) 3 40m
m 3. Omtd
m2 317 1,692 536, 364
Pk T
= 1 10, 892
1A HUFHEK
m 3 1,844 5,532
25 W N HEAK
m 1 5, 360 5, 360
i L
= 1 440, 216
RHEBESR T ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) # Z= % &
m 98 4, 492 440, 216
HEE
= 1 289, 279
e B LT
= 1 241, 093
LSl TAT7VMHZERR 15emBl
m 4 547 2,188
LS TAT 7V MEREERR SHEERRE 15emPl
m2 450 530. 9 238, 905
TEHRALER T
= 1 48, 186
PRauRiiig TAT 7 Wbk
m3 18 1,502 27,036
ALy TAT 7 Wbk
m3 18 1,175 21, 150
G an
= 1 3, 581, 320
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
THAEK T
= 1 310, 459
- 8F - B T
= 1 874, 776
(ES e N
= 1 2,219, 400
1R IE T
= 1 176, 685
[ERE N
= 1 197, 992, 377
I L
= 1 18,610, 012
B3 TS
= 1 4, 148, 012
TR
= 1 2,308, 012
TR AR T W3 1=
= 1 2, 245, 000
R TR t2t
= 1 63,012
BIGREsET (K30
= 1 1, 840, 000
MR E (FE L)
= 1 14, 462, 000
Wi
= 1 216, 602, 389
B
= 1 51, 375, 000
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)

T AT

= 1 267, 977, 389

— R

= 1 40, 492, 611
TS

= 1 308, 470, 000
THEBLFH Y %H

= 1 30, 847, 000
TH#EG

= 1 339, 317, 000
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